
A (Printed Pages 7)

C-914

B.Com. (Part-II) Examination, 2015

STATISTICAL METHODS

Time Allowed : Three Hours ] [ Maximum Marks : 100

Note : Answer five questions in all. Question No.1

is compulsory and select one question

from each Unit. Marks are indicated against

the questions. Use of simple calculator is

allowed.

kegâue heeBÛe ØeMveeW kesâ Gòej oerefpeS~ ØeMve meb.1 DeefveJeeÙe& nw

leLee øelÙeskeâ FkeâeF& mes Skeâ ØeMve ÛegefveS~ ØeMveeW kesâ Debkeâ

efveefo&„ nQ~ meeOeejCe kewâukegâuesšj keâe ØeÙeesie efkeâÙee pee

mekeâlee nw~

1. Write brief answers of the following:

efvecveefueefKele kesâ mebef#ehle Gòej efueefKeÙes : 4×10=40

(a) Discuss the causes and effects of biased

behaviour of informants.

metÛeveeoeleeDeeW kesâ he#eheelehetCe& JÙeJenej kesâ keâejCe SJeb

ØeYeeJeeW keâer JÙeeKÙee keâerefpeS~

(b) What are the qualities of a good sample?

Skeâ ßes… vÙeeoMe& kesâ keäÙee iegCe nesles nQ?
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(4)

‘‘Skeâ vÙeeoMe& yeÌ[e nesles ngS Yeer cenlJenerve nes mekeâlee nw

keäÙeeWefkeâ Ùen ÙeeÂefÛÚkeâ veneR nw; DeLeJee Ùen ÙeeÂefÛÚkeâ

nesles ngS Yeer DeJÙeJeneefjkeâ nes mekeâlee nw keäÙeeWefkeâ Ùen Úesše

nw~’’ Fme keâLeve hej efšhheCeer keâerefpeS~

3. (a) Distinguish between observation and sur-

vey methods alongwith their merits and

demerits. 7+8=15

eqvejer#eCe SJeb meJex#eCe efJeefOeÙeeW kesâ iegCe oes<e yeleeles ngS

GveceW Devlej mhe„ keâerefpeS~

(b) Discuss the various methods used in ap-

proximating data.

mecebkeâeW kesâ Ghemeeove ceW ØeÙeesie keâer peeves Jeeueer efJeefYeVe

efJeefOeÙeeW keâes yeleeFÙes~

Unit-II / FkeâeF&-II

4. Distinguish between the following: 5×3=15

eqvecve kesâ ceOÙe Devlej yeleeFÙes:

(a) Classification and Tabulation

JeieeakeâjCe SJeb meejCeerÙeve

(b) Grouped and ungrouped frequency dis-

tribution.

DeKeefC[le SJeb KeefC[le DeeJe=efòe efJelejCe

(c) Open and Shut questions.

Kegues SJeb yevo ØeMve



(c) Explain the utility of Statistics as a mana-

gerial tool.

ØeyevOekeâerÙe meeOeve kesâ ™he ceW meebefKÙekeâer keâer GheÙeesefielee

mecePeeFÙes~

(d) Explain and illustrate ‘less than’ and ‘more

than’ type series.

‘mes keâce SJeb ‘mes DeefOekeâ’ Øekeâej keâer ßesefCeÙeeW keâer JÙeeKÙee

SJeb GoenjCe oerefpeS~

(e) Discuss the objectives of classification.

JeieeakeâjCe kesâ GösMÙeeW keâer JÙeeKÙee keâerefpeS~

(f) Distinguish between Correlation and Re-

gression.

menmecyevOe SJeb Øeleerheieceve ceW Devlej yeleeFÙes~

(g) Discuss the relevance of Purposive sam-

pling technique.

GösMÙehetCe& efveoMe&ve lekeâveerkeâ keâer meeLe&keâlee keâes mhe„

keâerefpeS~

(h) Karl Pearson’s coefficient of correlation

between two variables X and Y is 0.75.

Their Co-variance is +21. If the variance

of X is 16, find standard deviation of Y.

X SJeb Y oes ÛejeW kesâ ceOÙe keâeue& efheÙejmeve keâe menmecyevOe

iegCeebkeâ 0.75 nw~ Gvekeâe menefJeÛejCe +21 nw~ Ùeefo X

keâe efJeÛejCe 16 nw lees Y keâe Øeceehe efJeÛeueve %eele keâerefpeS~
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(i) Average age of 50 students was 18

years. 5 students having their average

age as 17 years left the group and 3 other

students having their age 15, 16 and 19

years joined the group. Find the average

age of present group.

50 efJeÅeeefLe&ÙeeW keâer Deewmele DeeÙeg 18 Je<e& Leer~ 5 efJeÅeeLeea,

efpevekeâer Deewmele DeeÙeg 17 Je<e& Leer, ves mecetn keâes ÚesÌ[ efoÙee

Deewj 3 DevÙe efJeÅeeLeea, efpevekeâer DeeÙeg 15, 16 SJeb 19 Je<e&

Leer, mecetn ceW Meeefceue nes ieÙes~ Jele&ceeve mecetn keâer Deewmele

DeeÙeg keâer ieCevee keâerefpeS~

(j) Compute Arithmetic mean:

meceevlej ceeOÙe keâer ieCevee keâerefpeS :

Marks : 10 20 30 40 50

Debkeâ

No. of Students: 8 10 20 15 7

eqJeÅeeefLe&ÙeeW keâer mebKÙee

Unit-I / FkeâeF&-I 7½

2. (a) Discuss the scope of statistics.7+8=15

meebefKÙekeâer kesâ #es$e keâer JÙeeKÙee keâerefpeS~

(b) “A sample may be large yet worthless

because it is not random; or it may be

random but unrealistic because it is small.”

Comment on this statement.

(2) (3)



5. (a) Mr. Shyam spends Rs. 1000 for apples

costing Rs. 100 per kg. and another Rs.

1000 for apples costing Rs. 80 per kg. What

is the average price per kg.? 5×3=15

eqce. MÙeece 100 ™. Øeefle efkeâuees«eece cetuÙe Jeeues mesye hej

™. 1000 KeÛe& keâjles nQ Deewj DevÙe ™. 1000, ™. 80

Øeefle efkeâuees«eece Jeeues mesye hej KeÛe& keâjles nQ~ Øeefle efkeâuees«eece

Deewmele cetuÙe %eele keâerefpeS~

(b) Given : Mode =80, Mean = 85, Karl

Pearson’s Coefficient of Skewness=

0.625, find coefficient of variation.

%eele nw : yenguekeâ = 80, ceeOÙe = 85, keâeue& efheÙejmeve

keâe efJe<ecelee iegCeebkeâ = 0.625, efJeÛejCe iegCeebkeâ keâer

ieCevee keâerefpeS~

(c) Find the first and third quartiles of the

observations given as 33, 75, 84, 50,

43, 72, 68, 40, 90, 61.

efoÙes ngS heoeW 33, 75, 84, 50, 43, 72, 68, 40, 90,

61 mes ØeLece SJeb le=leerÙe ÛelegLe&keâ %eele keâerefpeS~
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(5)



Unit-III / FkeâeF&-III

6. Compute the coefficient of mean deviation

from mean from the following data: 15

efvecveefueefKele mecebkeâeW mes meceevlej ceeOÙe keâer meneÙelee mes ceeOÙe

efJeÛeueve kesâ iegCeebkeâ keâer ieCevee keâerefpeS :

Size Frequency

Deekeâej DeeJe=efòe

3-4 3

4-5 7

5-6 22

6-7 60

7-8 85

8-9 32

9-10 8

7. Given the following data, compute Karl

Pearson’s coefficient of correlation: 15

efvecve mecebkeâeW mes keâeue& efheÙejmeve keâe menmecyevOe iegCeebkeâ %eele

keâerefpeS~

Y
X 0-20 20-40 40-60

10-25 10 5 3

25-40 4 40 8

40-55 6 9 15

Unit-IV/FkeâeF&-IV

8. From the following information on values of

two variables x and y, find the two Regression

coefficients and Regression lines: 15

oes ÛejeW x SJeb y kesâ cetuÙeeW mes mecyevOeer efvecve metÛeveeDeeW mes oesveeW

Øeleerheieceve iegCeebkeâ SJeb Øeleerheieceve meceerkeâjCe %eele keâerefpeS :

n=10, Σx=20 Σy=40, Σx2=240 Σy2=410,

Σxy=200

9. From the following data, obtain the value of y

when x=9 by using Newton’s Advancing Dif-

ference method: 15

efvecve mecebkeâeW mes vÙetšve keâer Øeieeceer Devlej efJeefOe keâe ØeÙeesie keâjles

ngS y keâe cetuÙe %eele keâerefpeS peyeefkeâ x keâe cetuÙe 9 nw:

x: 3 7 11 15 19

y: 42 43 47 53 60

(6) (7)
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